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log(L* 85 / L* 85,u)

normierte CIELAB-Helligkeit
log( L*/L* u)

L*/L* u

log[(L* 85,u)/(L* 85,u)]=0, mu=0,43

L* 85,u=508, Yu=18

LABJND und CIELAB -Helligkeit
L* 85= (t/a) ln [ 1 + b (Y/Yu)]
a=0,3411 t=88,23 t/a=258,6 b=a·Yu=6,14

L*  = 116 (Y/Yn)1/3− 16   (Yn=100, 1 ≤ Y ≤ 100)

Anwendungs-
bereich
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log[(Y/∆Y) / (Y/∆Y)u] CIE Y-Kontrast
normiert für ( Y/∆Y)u
LABJND & CIELABCr /Cru=(Y/∆Y)/(Y/∆Y)u

mu+=
0,13

mu−=0,14

log[(Y/dY)u/(Y/dY)u]=0, mu=0,33
L* u=50, Yu=18, dYu=0,83, (Y/dYu)=22

normierter Y-Kontrast nach CIELAB

log[(Y/dY)/(Y/dY)u] = (1/3) log(Y/dYu)

L* u=50, Yu=18, dYu=0,83

Anwendungs-
bereich
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log (L* 85 /  L* 85,u)  
keine CIELDE2000-HelligkeitL*/L* 85

log[(L* 85)/(L* 85,u)]=0, mu=0,43

L* 85,u=508, Yu=18

LABJND-Helligkeit
L* 85,= (t/a) ln [ 1 + b (Y/Yu)]
a=0,3411 t=88,23 t/a=258,6 b=a·Yu=6,14

Anwendungs-
bereich
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normiert für ( Y/∆Y)u
LABJND& CIEDE2000Cr /Cru=(Y/∆Y)/(Y/∆Y)u

mu+=
0,13

mu−=0,14

log[(Y/dY)u/(Y/dY)u]=0, mu=0,18
L* u=50, Yu=18, dYu=0,83, (Y/dYu)=22

Y-Kontrast nach CIEDE2000

log[(Y/∆Y)/(Y/∆Y)u] = (1/3) log((Y/Y)u)

L* u=50, Yu=18, dYu=0,83

Anwendungs-
bereich


